
 

TAMILNADU NTSE STAGE 1 (2015-16) 
NTSE (MAT) 

 
Direction : (Question numbers 1 to 3)  
In each question the numbers / letters are arranged in a sequence based on certain principle. Select the 
answer from the four alternatives given under each sequence for the term marked by’?’ 
 
1. 23, 35, 57, 711? 

(A) 213 (B) 1311 (C) 1113 (D) 1317 

 
2. 6, 15, 33, ?, 141 

(A) 69 (B) 68 (C) 67 (D) 66 

 
3. Z,W,S,N,H,A,? 

(A) T (B) S (C) R (D) Q 

 
Direction : (Question numbers 4 and 5)  
The diagram and the numbers / letters follow certain principle. Select the missing number / letter indicated 
by question mark ‘?’ 
 

4.   
5 

   
? 

    
5 

   
 

             
 

                
 

  7 62 4  3 50 8   2 53 7   
 

                
 

   6    6     9    
 

 

(A) 4 

     

(B) 3 

   

(C) 5 (D) 6 
 

         
 

5. 
               

 

 
A K Q 

           
 

             
 

                
   

? C   M 
 

O I E 
 

(A) G (B) P (C) H (D) L 
 
Direction : (Question numbers 6 and 7)  
First two terms are connected by some relationship. The same relationship is applicable for the next 
terms, in which one is black space. Identify the suitable term from the given four alternatives for the black 
space. 
 
6. Earth : Moon :: Sun : _______________. 

(A) star (B) Earth (C) Sky (D) Moon 

 
7. 26 A : J 17 : : 19 H : _____________ 

(A)10Q (B)7R (C)R7 (D)Q10 

 
Direction : (Question numbers 8 and 10) 
Identify the suitable alternative according to the questions. 

 
8. Which one of the following is connected with ‘flood’, ‘fire’, ‘cyclon’ : 

(A) water (B) House (C) Earthquake (D) Lightning 

 
9. Choose the word which is least like the other words: 

(A) India (B) England (C) Austria (D) Sri Lanka 

 
10. Choose the word which is different from others: 

(A) Diving (B) Swimming (C) Boating (D) Walking 



 

Direction : (Question numbers 11 and 12) 
Read the questions carefully and answer according to the given relationship. 

 
11. ‘A’ introduces ‘B’ as the “daughter of the only sister of his mother’s husband”.  How is B related to A? 

(A) Daughter (B) Sister (C) Cousin (D) Mother 

 
12. If M is greater than O but less than R, P is less than N but greater than R and O lies between Q and M then 

the greatest is: 
(A) N (B) P (C) R (D) Q 

 
Direction : (Question numbers 13and 12) 
Read the questions carefully and answer according to the given relationship. 
 

 

13. The other girl is : 
(A) D (B) C (C) A (D) B 

 

14. F is between : 
(A) A and D (B) A and E (C) A and C (D) B and D 

 
15. The right of D is: 

(A) C (B) A (C) B (D) E 
 
Direction : (Question numbers 16 and 17) 
Words are in coded language. Identify the coded word depending upon the given situation. 

 
16. If ‘VICTORY’ is coded as ‘ZMGXSVC’ then ‘SUCCESS’ is coded as: 

(A) YWGGIYY (B) WYGGIWW (C) WYGHIWW (D) WYHHIWW 

 
17. ‘NEPAL’ is coded as 41985 and SRILANKA is coded as 36258478 then INDIAN is coded as: 

(A) 24028 (B) 24128 (C) 42028 (D) 24528 

 
Direction : (Question numbers 18 and 19)  
The following diagrams show some relationship among 3 items. For each group of elements there 
corresponding one diagram is (a), (b), (c) or (d). Select the diagram.  
 
 
 
 
 

 

(1) (2) (3) (4) (5) 
 

 
18. Square, rhombus, polygons 

(A) 2 (B) 1 (C) 3 (D) 4 

 
19. Vegetable, potato, apple 

(A) 1 (B) 2 (C) 3 (D) 4  
 
20. The three items satisfy the diagrams are: 

(A) Engineers, Sportspersons, Judges 
(B) Carrot, Vegetable, Food 
(C) Flowers, Fruits, Liquid 
(D) Birds, Animals, Human beings 



 

Direction : (Question numbers 21 and 24)  
In the following diagram, the three intersecting circles, each representing certain section of people. 
Different regions are marked as 1 to 7. Read the statements in questions 21 to 24 and choose number of 
the region which correctly represents the statement. 
 
Circle : I represents ‘Indians’  

II represent ‘Sportspersons’ 
III represents ‘Graduates’  
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21. Indian graduates who are not sportspersons: 
(A) 6 (B) 4 (C) 7 (D) 5 

 

22. Graduate sportsperson who are not Indians: 
(A) 5 (B) 7 (C) 6 (D) 4 

 

23. Indian graduate sportspersons: 
(A) 7 (B) 4 (C) 5 (D) 76 

 
24. The region 5 represents: 

(A) Graduate sportspersons who are not Indians 
(B) Indian sportspersons who are not graduates 
(C) Indian Graduates who are nto sports persons  
(D) None of these 

 

 

Direction : (Question numbers 25) 
Read the contents, sense the direction and answer the questions. 
 

 

25. A person starts from a point A and travels 6 km westwards to B and then turns right and trvels half of that 

idstance to reach C. He again turns right and travels 
5

2 times the distance he covered between A and B 
 

and D.  The shortest distance between the starting point and the last position is (in km).  
(A) 4 (B) 6 (C) 5 (D) 7 

 

26. Arrange the given words in the alphabetical order and choose the third word in the order. 
 (1) Bicycle (2) Binary (3) Bihar (4) Bishop 
 (A) 2 (B) 1 (c) 3 (d) 4 

27. If  stands for    
 + stands for    

  stands for  and   

  stands for + then   

 6  4  3  7  9  3 is   

 (A) 20 (B) 16 (C) 15 (D) 19 

28. The number of the three digit numbers is:   
 (A) 729 (B) 901 (C) 899 (D) 900 



 

29. A total of 380 coins of 25 paise and 50 paise coins make a sum of Rs 130. The number of 50 paise coins 
is:  
(A) 140 (B) 180 (D) 120 (D) 110 

 

30. The unit digit of 168156
  is : 

 
(A) 8 (B) 6 (C) 4 (D) 2 

 
Direction : (Question numbers 31 and 32)  
A die has been thrown 4 times and produces the following four results. From the questions answer the 
questions 31 and 32.  
 
 
 
 
 

 

31. The number appears opposite to 4 is:  
(A) 3 (B) 5 (C) 6 (D) 2 

 
32. The number appears opposite to 1 is: 

(A) 3 (B) 4 (C) 6 (D) 2  
 
33. The total number squares in the figure is 

(A) 6 (B) 9 

(C) 8 (D) 3 
 

 

34. In a row of 20 students when ‘A’ was shifted by four places towards the right, he became thirteenth from the  
left end.  His earlier position from the right end of the row is:  

(A) 11 (B) 9 (C) 12 (D) 10 

 
35. The least number to be added to 4900 to make it a perfect cube is: 

(A) 13 (B) 0 (C) 23 (D) 33 
 

36. If Same ranked ninth from the top and 42nd from the bottom in a class, the number of students in the class 
is: 
(A) 51 (B) 50 (C) 49 (D) 52 

 
37. The number of 7’s in the following series which are preceded by 6 and which is not preceded by 8, is: 

87678875679761677688697689 

(A) 3 (B) 4 (C) 8 (D) 5 

 

38. There are 42 students admitted to a class. Some students can speak only English and some students can 
speak only Tamil. Fifteen students can speak both Tamil and English. If the number of students who can  
speak English is 20, then how many students can speak Tamil?  

(A) 35 (B) 20 (C) 27 (D) 37 

 

39. In a city 20% of the adults are illiterate while 90% of the children are literate. If the ratio of the adults to that 
of the children is 3 : 5, then the percent of the population of illiterate is :  
(A) 13.75 (B) 55 (C) 30 (D) noen of these 

 

40. if 9  3  6273,8  2  6164 then 10  5   
(A) 5250 (B) 5515 (C) 5502 (D) 5205 

 
Direction : (Question numbers 41 and 42)  
In each of the following questions, there is same relationship between the figures A and B. The same 
relationship exists between the figure C and one of the four alternative (A), (b), (C) and (D). Choose the 
correct option: 



 

41.  
 
 
 
 
 
 
 
 
 

 

(A) (B) (C) (D)  
 
42.  
 
 
 
 
 
 
 
 
 
 
 
 

(A) (B) (C) (D) 
 
 

 

Direction : (Question numbers 43 and 44)  
Select a figure from the figure (A), (b), (C) and (D), which would continue the figure 1, 2, 3, 4  
 
43.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

44. 



 

Direction : (Question numbers 45 and 46) 
Choose the figure which is different from other.  
 

45. 
 
 
 
 
 
 
 
 
 

(A) (B) (C) (D)  
46. 
 
 
 
 
 
 
 

 

(A) (B) (C) (D) 
 

 
Direction : (Question numbers 47)  
Figure A followed by four alternative figure (A), (B), (C) and (D) such that the figure A is embedded in one of 
them. Identify the correct alternative.  
 

47. 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Direction : (Question numbers 48)  
In the following collection of 9 figures, group the figures into three classes using each figure only once.  
 
48. 
 
 
 
 
 
 
 
 
 
 

 

Direction : (Question numbers 49) 
Choose the correct mirror image of the figure A, from the four alternative figure A, B, C and D. 



 

49. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Direction : (Question numbers 50)  
Choose the correct water image of the given series from the given four alternatives.  
 
 
 
 
 
 

 

50. 
 

 

LANGAUAGE TEST 

 
Direction : (Question numbers 51 and 55)  
Read the following passage and answer the questions given below: 

 

There are two problems which cause great worry to our educationists, the problem of religious and moral instruction 
in a land of many faiths and the problem arising out of a large variety of languages. Taking up the education of 
children, we see that they should be trained to love one another, to be kind and helpful to all, to be tender to the 
lower animals and to observe and think right. The task of teaching them how to read and write and to count and 
calculate is important, but it should not make us lose sight of the primary aim of moulding personality in the right 
way. For this, it is necessary to call into aid, culture, tradition and religion. But in our country we have, in the same 
school, to look after boys and girls born in different faiths and belonging to families that live diverse ways of life and 
follow different forms of worship associated with different denominations of religion. It will not do to tread the easy 
path of evading the difficulty by attending solely to physical culture and intellectual education. We have to evolve a 
suitable technique and method for serving the spiritual needs of school children professing different faiths. We 
would thereby promote an atmosphere of mutual respect, a fuller understanding and helpful co-operation among 
the different communities in our society. Again we must remain one people and we have therefore to give basic 
training in our schools to speak and understand more languages than one and to appreciate and respect the 
different religions prevailing in India. It is not right for us in India to be dissuaded from this by considerations as to 
overtaking the young mind. What is necessary must be done. And it is not in fact too great a burden. 
 

51. The main objective of education in India is ______________ 
 (A) imparting knowledge  (B) moulding proper personality 
 (C) developing language skills  (D) teaching physical culture 

52. India is a ______________ country.   
 (A) multilayered (B) multicoloured (C) multinational (D) multilinguisic 

 

53. It is a challenge for the educationists to cater to the spiritual needs of Indian students because__________. 
(A) they are not exposed to many languages 
(B) they don’t tolerate each other 
(C) they practice different faiths 
(D) they live diverse ways of life 



 

54. ____________Should not be considered a burden for the school children in India. 
 

(A) Learning more languages (B) Understanding mathematical calculations (C) Adopting new 
techniques and methods (D) following age – old culture and tradition 

 

55. Pick the word from the passage which means’ escape or aviod’. 
(A) evolve (B) prevail (C) tread (D) evade 

 

 

Direction : (Question numbers 56 and 60) 
Read the following poem and answer the questions given below: 
 

As summer draws it’s final breath 

to prepare its curtain call, 
the monarchs begin their epic trek 
to user in the autumn. 
 

The northern wind breathes out its chill  
As songs begin to hush, 
and paints the trees upon the hill, 
With its artist brush. 
 
From green to red,orange to brown 

the trees discard their masks, 
and lay them gently upon the ground, 
For us to begin our tasks. 
 
56. A curtain call refers to ___________ 

(A) calling for the curtains to be lowered 
(B) raising the curtains for the performance to begin 
(C) final appearance of actors on the stage 
(D) when actors appear one last time to be applauded 

 
57. The monarchs referred to in the poem are _____________ 

(A) rulers (B) butterflies (C) kings (D) moths 

 
58. The figure of speech used in the poem is ___________ 

(A) simile (B) metaphor (C) personification (D) onomatopoeia 

 

59. The masks that the trees discard are _______________ 
(A) leaves (B) fruits (C) flower (D) bark 

 
60. The task we have to begin is _____________ 

(A) planting more trees  
(C) taking out the garbage 

 
(B) raking up the leaves  
(D) cutting down the old trees 
 

 
Direction : (Question numbers 61 and 65) 
Fill in the blanks with the most appropriate option given below: 

 

When it comes ot fitness, I’ll _____61_____ just two magic words, which have helped me _____62_____.  The first  
one is _____63_____.  You need to take that first step.  Even if it’s a baby step, you need to take and work towards  
the change.  Use all the _____64_____ resources you have at your disposal.  The second one is _____65_____. 
Even if you are taking baby steps, take it everyday.  Do something for five minutes, but do it everyday. 

 

61. (A) demand (B) develop (C) propagate (D) exercise 

62. (A) tremendously (B) fixedly (C) casually (D) beneficially 

63. (A) Exposure (B) endurance (C) initiative (D) medication 

64. (A) crucial (B) essential (C) delicate (D) habitual 



 

65. (A) contingency (B) constancy (C) consistency (D) consultancy 

 

Direction : (Question numbers 66 and 67)  
Rearrange the parts and complete the sentences. The beginning of the sentences are already given. 
Choose the order from the options given: 

 

66. The book narrates: 
P. personal irritation to 
Q. emanating from  
R. national and social havocs 
S. all forms of worries. 
(A) RQPS (B) QPSR (C) SQPR (D) RPQS 

 
67. Etiquette is a set of rules: 

P. have changed as time has gone by  
Q. and though the rules of etiquette 
R. Which govern people’s behaviour  
S. certain customs are still the same 
(A) RPQS (B) QRSP (C) PRQS (D) RQPS 

Direction : (Question numbers 68 and 70) 
Fill in the blanks with the correct tense form of the verb, choosing from the options given: 

 

68. The court case came to a conclusion as we _____________.(guess) 
(A) are guessing (B) would guess (C) have guessed (D) had guessed 

 
69. Were I a millionaire, I ____________ (take) my wife to the moon. 

(A) can take (B) would take (C) will be taking (D) have taken 

 
70. The telephone rang, when I ____________ (brush my teeth). 

(A) was brushing (B) brushes (C) have been brushing (D) am brushing 

 
Direction : (Question numbers 71 and 75) 
Choose the appropriate meaning of the idiomatic expressions used in the given sentences: 

 
71. The Government did a lot of spadework before the launch of this project. 

(A) hard labour (B) systematic work 

(C) preliminary research (D) comprehensive analysis 

 

72. We can play it by the ear and decide where to meet later. 
(A) pull a person’s ear 
(C) whisper 

 
(B) tell someone a secret  
(D) improvise 
  

73. The policeman blew a fuse as soon as he realized that he was cheated. 
(A) turn angry (B) feel upset (C) remain calm (D) get disappointed 

 
74. Mr. X got the axe last week because he did not stop arguing. 

(A) incur a loss (B) obtain a divorce (C) lose a job (D) undergo punishment 

 
75. They think that looking after babies is a piece of cake. 

(A) amusing (B) easy (C) tedious (D) delightful 
 

 

Direction : (Question numbers 76 and 80) 
Choose the most suitable word from the options givena nd fill in the blank. 
 

Disney World in Orlando, Florida _____76_____ in October 1971. Millions of people from over 100 countries 

_____77_____ Diisney World every year. There _____78_____ so many wonderful things to do at Disney World 
that  many  people  _____79_____  it  the  Vacation  kingdom  of  the  world. Every  visitor  to  this  special  place  
_____80_____ many wonderful memories back home with him. 
 

76. (A) opens (B) have opened (C) has opened (D) opened 



 

77. (A) visit (B) visited (C) visits (D) had visited 

78. (A) be (B) is (C) are (D) were 

79. (A) calls (B) call (C) is calling (D) will have been calling 

80. (A) taken (B) take (C) are taken (D) takes 

 
Direction : (Question numbers 81 and 85) 
Choose the most suitable the phrasal verbs in the given sentences: 
 

81. The organizers plan to wrap up the programme before 3 pm. 
(A) conclude (B) advance (C) inaugurate (D) terminate 

 
82. Rampant corruption will eat away the basic foundation of a country’s economy. 

(A) strangle (B) shrink (C) erode (D) digest 

 
83. Reena handed out her wedding invitations to all her colleagues. 

(A) circulated (B) delivered (C) issued (D) distributed 

84. The street vendor salted away a part of his daily profit to buy a pushcart. 
(A) spent (B) saved (C) adjusted (D) frittered 

 
85. We bumped into a far relative of ours in the function. 

(A) visited (B) enquired (C) met (D) surrounded 

 
Direction : (Question numbers 86 and 90) 
Identify which of the four sentences is correct. 
 

 

86. (A) The father and son walked between the river. 
(B) the father and son walked besides the river 
(C) the father and son walked beside the river 
(D) the father and son walked behind the river. 

 
87. (A) My sister hardly does household chores, would be? 

(B) My sister hardly does household chores, doesn’t she? 
(C) My system hardly does household chores, wont she? 
(D) My sister hardly does household chores, does she? 

 
88. David said,’I’ m glad to be here this evening. 

(A) David said that he is glad to be here this evening. 
(B) David said that he was glad to be here this evening. 
(C) David said the he was glad to be there that evening. 
(D) David sad that he is glad to be there that evening 

 
89. Identify the complex sentence 

(A) He spoke loudly and os he was heard. 
(B) He spoke loudly os that he could be hear. 
(C) He spoke loudly to be heard 
(D) He spoke loudly, therefore he was heard’ 

 
90. Identify the correct passive form of the sentence: 

The pianist receive a standing ovation when he played Beethoven’s Symphony No.7 
(A) A standing ovation was received by the pianist when he played Beethoven’s Symphony No.7 
(B) The pianist received a standing ovation when Beethoven’s Symphony No.7 was played by him 
(C) Beethoven’s Symphony No.7 was played by the pianist and he received a standing ovaion.  
(D) A standing ovation was received by the pianist when Beethoven’s symphony no.7 was played by him. 

 
Direction : (Question numbers 91 and 92) 
Choose the correct synonym of the under line word. 

 
91. She spoke in dulcet tones. 



 

(A) harsh (B) rough (C) sweet (D) unkind 

 
92. His gregarious nature won him may friends. 

(A) companionable (B) unreserved (C) introverted (D) critical 

 
Direction : (Question numbers 93 and 94) 
Choose the appropriate antonyms of the underlined word in the sentences from the options given: 

 

93. The speaker made an obscure reference to that incident. 
(A) accurate (B) unsafe (C) indecent (D) clear 

 
94. The members of the union raised a pertinent question during the discussion. 
 (A) invaluable    (B) irrelevant (C) improper (D) insignificant 

Direction : (Question numbers 95 and 98)          
Spot the errors in the following sentences. the given sentences:  

                  

95.  1    2     3   4   

 The young boy returned back home  later than he had promised.  

 (A) 1      (B) 2      (C) 3 (D) 4 
                 

96.  1  2    3     4   

 Rashmita  Who lives in Mumbai Is my Cousin sister.   

 (A) 1      (B) 2      (C) 3 (D) 4 

                
97.  1   2   3  4      

 My mother  poured the coffee  in  the cup     

 (A) 1      (B) 2      (C) 3 (D) 4 
                 

98. 1 2   3    4        

 I Read  Baghvad Gita every morning     

 (A) 1      (B) 2      (C) 3 (D) 4 

 
Direction : (Question numbers 99 and 100) 
Choose the best meaning for the given proverb. 

 
99. People who live in glass houses must not throw stones. 

(A) always be careful when playing with stones.  
(B) do not criticize unless you are perfect. 
(C) it is not polite to be rude to others. 
(D) if you are rude you will not get many friends 

 
100. Make a mountain out of a molehill.  

(A) raise from a humble beginning 
(B) earn a lot of money 
(C) exaggerate things 
(D) boast about a simple success 


